
Fill in the Blank Type 

Q45. The dimensions of electrical conductivj ity 

(19) 
to the elec 

Sol. The current density J is proportional to th 

tric field E with proportionality constant o ie., J 

Thus, [ol = lil = la 
= lPal= [m 

(M-'LT°A"], 
where P= VI is power. 

Ans. MLTAJQ 

Q72. A copper wire is stretched to make it 0.1% 
longer. What is the percentage change in its resistance? 

(1978) 

Sol. Let A be the cross-sectional area of the wire of 
lengtlh l. When the wire is stretcheel, its volune V = Al, 
nnd resistivity p remain constant. The resistance of the 
wire is given by 

R= pl/A = pl"/{Al) = (p/V)3, 

Differentiate and simplify to get 

AR/R= 2Al/! = 2 (0.1%) = 0.2% 

Ans. 0.2% increase 

Q. 13




